

Purchase & Store Section, Liaquat University of Medical & Health Sciences, Jamshoro.

Tender opened: 11-06-2024

NIT No. LUMHS/PSS/ 436 Dated: 22-05-2024 SPPRA ID# T01904-21-0057

Financial Comparative Statement of Procurement of Instruments & Dental Material for Faculty of Dentistry for Undergraduate & Postgraduate Training, Institute of Dentistry, LUMHSJamshoro

Sr. No.	Description of required Items	QTY	M/s Technology Karachi	Links	M/s Mega Tro Traders Hyde		M/s Fabnos Traders PVT LTD Karachi		M/s Fabnos International Karachi		Remarks
1,0.	required items		Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	
1	Alginate sodium	50 pkts	1,700 per each Alginate sodium China	85,000	1,400 Alginate Sodium 456 gram China	70,000	1,050 Alginate Sodium 454 gram Hygedent china	52,500	3,350 Alginate Sodium 453 gram Holland	167,500	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
2	BOND BRUSH	40 pkts	700 Bond Brush China	28,000	750 Bond Brush Micro APL pack of 100	3,000	350 Bond Brush China Micro apl pack of 100	14,000	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
3	Resin BOND (5 th Generation)	25 pkts	6,800 Resin BOND (5 th Generation) turkey	170,000	3,750 Resin BOND (5 th Generation) 3ml Mequra/VIA	93,750	2,950 Resin BOND (5 th Generation) Master Bond Brazil 5 ml	73,750	8,370 Resin BOND (5 th Generation) Australia	251,100	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
4	Calcium Hydroxide / Non Setting Paste /Syring For Intercanal Medication	10 pkts	7,000 Calcium Hydroxide / Non Setting Paste /Syring For Intercanal Medication Korea	70,000	6,000 Calcium Hydroxide / Non Setting Paste /Syringe for Inter canal Medication 2.2g MATA/BIO	60,000	2,750 per each Calcium Hydroxide/Non Setting Paste /Syring For Intercanal Medication Hydropast Brazil 2.5gm	27,500	6,950 Calcium Hydroxide / Non Setting Paste /Syring for Intercanal Medication PD Swiss	69,500	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
5	Campo	60 pkts	700 Campo China	42,000	750 Campo Crecent pack of 5	45,000	4,600 Campo UK kemdent 250gm	276,000	Not Quoted		M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
6	Cavex outline	10 pkts	14,000 Cavex outline France	140,000	12,750 Cavex outline cavex pack of 2	127,500	7,600 Cavex outline Holland 205gm	76,000	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest

A---

my frais

Str-

1 m

Sr. No.	Description of required Items	QTY	M/s Technolog Karachi	y Links	M/s Mega Ti Traders Hyde		M/s Fabnos PVT LTD K		M/s Fabnos Int Karachi	ernational	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
NO.	required Items		Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	
7	CAVIT PROVIS Temporary Material Filling	30 pkts	850 Cavit Provis Temporary Filling Material	25,500	900 CAVIT PROVIS Temporary Filling Material 35gm	27,000	1,850 CAVIT PROVIS Temporary Filling Material Brazil	55,500	1,850 CAVIT PROVIS Temporary Filling 38gn Material UK	55,500	
8	RESIN COMPOSITE DIFFERENT SHADES A2, B2,A1,B1, SWIES Tech (15 Tube Each Shades)	50 pkts	30,000 Resin Composite Different Shades A2, B2,A1,B1, Swiss Tech (15 Tube Each Shades) Turkey	1,500,000	3,000 Resin Composite Different Shades A2, A3, Swiss Tech (15 Tube Each Shades)4gm Mequra	150,000	1,800 Resin Composite Different Shades A2, B2,A1,B1, Swiss Tech (15 Tube Each Shades) Brazil	90,000	4,850 Resin Composite Different Shades A2, B2,A1,B1, Swiss Tech (15 Tube Each Shades) 4gm SDI	242,500	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
9	COTTON 400 GM	30 pkts	700 Cotton 400 GM	21,000	1200 Cotton 400 GM National	36,000	Not Quoted		Not Quoted		M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
10	DYCAL/ CALCIUM HYDROXIDE Paste	06 pkts	Rejected		10,500 Dycal/ Calcium Hydroxide dent Supply pack of 2	63,000	Rejected		Not Quoted		M/s Mega Tronic Traders Hyderabad has quoted & Qualified for purchase order being bes Evaluated
11	G.P Point Rotary (f1)	30 pkts	1,900 G.P Point Rotary (f1) China	57,000	1,650 G.P Point Rotary (f1) MATA pack of 60	49,500	1,450 G.P Point Rotary (f1) China pack of 60	43,500	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
12	G.P Point Rotary (F2)	30 pkts	1,900 G.P Point Rotary (F2) China	57,000	1,650 G.P Point Rotary (F2) MATA pack of 60	49,500	1,450 G.P Point Rotary (F2) China pack of 60	43,500	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
13	G.P Point Rotary (F3)	30 pkts	1,900 G.P Point Rotary (F3) China	57,000	1,650 G.P Point Rotary (F3) MATA pack of 60	49,500	1,450 G.P Point Rotary (F3) China pack of 60	43,500	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest

many Sand

Sr.	Description of	QTY	M/s Technology Karachi	Links	M/s Mega Tro Traders Hyder		M/s Fabnos Tra LTD Karachi	aders PVT	M/s Fabnos Int Karachi	ernational	Remarks
No.	required Items		Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Raidolli		
14	G.G BARS 1 To 6	10 pkts	1,750 G.G BARS 1 To 6 Japan	17,500	1,650 G.G BARS 1 To 6 Mani	16,500	800 G.G BARS 1 To 6 China	8,000	Not Quoted		M/s Fabnos Traders Karachi is Qualified fo purchase order being 1s lowest
15	Glass Ionomer Lutting (Japan, Korea)	20 pkts	13,600 Glass Ionomer Lutting (Japan)	272,000	13,500 Glass Ionomer Lutting LIQ +POW GIC Japan	270,000	Rejected		Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
16	Glass Ionomer Restoration (Japan, Korea)	20 pkts	13,600 Glass Ionomer Restoration Japan	272,000	Glass Ionomer Restoration LIQ+POW GIC Japan	270,000	Rejected		Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
17	Green sticks (Local)	30 boxes	700 Green sticks (Local)	21,000	900 Green sticks Crecent pack of 15	36,000	4,000 Green sticks UK pkt of 15	160,000	Not Quoted		M/s Technology Links Karachi is Qualified for purchase order being 1s lowest
18	Hard dental Plaster	80 pkts	800 Hard dental Plaster China	64,000	900 Hard dental Plaster ISI 1KG	72,000	375 Hard dental Plaster Turkey	30,000	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1s lowest
19	Hydrpogen Peroxide 450 ML(LOCAL)	25 Bottles	Not Quoted		450 Hydrpoge n Peroxide 450 Ml Zantok	11,250	Not Quoted		Not Quoted		M/s Mega Tronic Traders Hyderabad has quoted & Qualified for purchase order being be Evaluated
20	ECHANT GEL Pack of Three (3) Syringe	20 pkts	4,000 Echant Gel Pack of Three (3) Syringe Brazil	80,000	3,000 ECHANT GEL Pack of Three (3ml) Syringe Mequara/VIA 3ml	60,000	2,000 Echant Gel Pack of Three (3) Syringe Brazil 3x3gm	40,000	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1s lowest
21	K File (10)	20 pkts	1,200 K File (10) Japan	24,000	750 K File (10) Mani pack of 6	15,000	350 K File (10) China SS file pack of 6	7,000	Not Quoted		M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest

Commission of the Strains

Sr. No.	Description of required Items	QTY	M/s Technology Links Karachi		M/s Mega Tro Traders Hyde		M/s Fabnos Tr LTD Karachi	aders PVT	M/s Fabnos International Karachi	Remarks
10.			Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.		
22	K File (6)	20 pkts	1,400 K File (6) Japan	28,000	750 K File (6) Mani pack of 6	15,000	350 K File (6) China pack of 6	7,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
23	K File (8)	20 pkts	1,400 K File (8) Japan	28,000	750 K File (8) Mani pack of 6	15,000	350 K File (8) China pack of 6	7,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
24	Xylocaine 2% Cotrage	50 Boxes	6,600 Xylocaine 2% Cotrage Korea	330,000	5,250 Xylocaine 2% Cotrage Irani 1.8ml	-	4,500 Xylocaine 2% Cotrage Korea pack of 50	225,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
25	K File (15)	20 pkts	2,000 K File (15) Japan	40,000	750 K File (15) Mani pack of 6	15,000	350 K File (15) China pack of6	7,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
26	K File (20)	20 pkts	2,000 K File (20) Japan	40,000	750 K File (20) Mani pack of 6	15,000	350 K File (20) China pack of 6	7,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
27	MTA (Germany) Pack of Ten (10) Doses	03 boxes	Rejected		15,000 MTA (Germany) Pack of Ten (10) Dose techno	45,000	16,995 MTA (Germany) Pack of Ten (10) Doses Swiss	50,985	Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
28	NEEDLE BLOCK	30 pkts	1,900 Needle Block China	57,000	1,800 Needle Block H. dent pack of 100	54,000	1,050 Needle Block pack of 100 China	31,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
29	Needles LA	30 pkts	1,900 Needles LA China	57,000	1,800 Needles LA H Dent pack of 100	54,000	1,050 Needles LA pack of 100 China	31,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
30	Paper Point Rotary (F1)	30 pkts	1,850 Paper Point Rotary (F1) China	55,500	1,650 Paper Point Rotary (F1) pack of 60 MATA	49,500	1,450 Paper Point Rotary (F1) pack of 100 China	43,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest

of Stand to - Jums

Sr. No.	Description of required Items	QTY	M/s Technology Karachi	Links	M/s Mega Tror Hyderabad	nic Traders	M/s Fabnos Tra LTD Karachi	aders PVT	M/s Fabnos International Karachi	Remarks
NO.	required items		Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.		
31	Paper point Rotary (F2)	30 pkts	1,850 Paper point Rotary (F2) China	55,500	1,650 Paper point Rotary (F2) MATA pack of 60	49,500	1,450 Paper point Rotary (F2) pack of 100 China	43,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
32	Paper Point Rotary (F3)	30 pkts	1,850 Paper Point Rotary (F3) China	55,500	1,650 Paper Point Rotary (F3) MATA pack of 60	49,500	1,450 Paper Point Rotary (F3) pack of 100 China	43,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
33	Polythine Gloves	100 pkts	100 Polythine Gloves China	10,000	75 Polythine Gloves local pack of 100	7,500	Not Quoted		Not Quoted	This Item has been cancelled
34	POLISHING MATERIALS (PROPHY PASTE Cup)	1000 cups	60 POLISHING MATERIALS (PROPHY PASTE Cup)	60,000	75 Polishing Materials (Prophy Paste Cup)USA	75,000	47.50 Polishing Materials (Prophy Paste Cup) USA	47,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
35	Rotary Files (21mm) (Three File System) M-pro File china	25 strips	Not Quoted		3,900 Rotary Files (21mm) (Three File System) M- pro File M Pro pack of 6	97,500	Not Quoted		Not Quoted	M/s Mega Tronic Traders Hyderabad has single firn quoted & Qualified for purchase order being best Evaluated
36	Rotary Files (25mm) (Three File System) M-pro File china	25 strips	Not Quoted		3,900 Rotary Files (25mm) (Three File System) M- pro File M Pro pack of 6	97,500	Not Quoted		Not Quoted	M/s Mega Tronic Traders Hyderabad has single firm quoted & Qualified for purchase order being best Evaluated
37	Rubber Base C Silicon	10 pkts	19,100 Rubber Base C Silicon Italy	191,000	16,500 Rubber Base C Silicon Lascode jar/tube	165,000	Not Quoted		Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

an trains

Janes Spring

Sr. No.	Description of required Items	QTY	M/s Technology L Karachi	inks	M/s Mega Tror Hyderabad	nic Traders	M/s Fabnos T LTD Karachi	raders PVT	M/s Fabnos International Karachi	Remarks
140.	required items	7.1	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.		
38	Surgical gloves (examination Gloves) Small Size	120 pkts	1,900 Surgical gloves (examination Gloves) Small Size Malaysia	228,000	1,650 Surgical gloves (examination Gloves) Small Size pack of 100 Latex	198,000	Not Quoted		Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
39	Syringe Box 5cc	30 boxes	Not Quoted		2,250 Syringe Box 5cc Local	67,500	Not Quoted		Not Quoted	M/s Mega Tronic Traders Hyderabad has single firm quoted & Qualified for purchase order being best Evaluated
40	Wax sheet	30 pkt	1,100 Wax sheet Local	33,000	1,500 Wax sheet Molding wax pack of 100	45,000	650 Wax sheet Pak made	19,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
41	Napkin	5 corton	6,500 Napkin Local	32,500	6,000 Napkin China pack 125 pcs	30,000	3,000 Napkin China	15,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
42	Root Canal Sealer Calcium Hydroxide paste (Austrlia)	10 pkts	16,500 Root Canal Sealer Calcium Hydroxide paste America	165,000	15,000 Root Canal Sealer Calcium Hydroxide paste Scelapex	150,000	Rejected		Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
43	BRACKET SET USA	50 pkts	2,000 Bracket Set USA pack of 20 pcs	100,000	3,000 Bracket Set USA pack of 20pcs	75,000	Rejected		Not Quoted	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
44	EDTA Cream for root Canal Cleaning	06 pkts	6,000 EDTA Cream for root Canal Cleaning Korea	36,000	4,500 EDTA Cream for root Canal Cleaning Mequra/ VIA	27,000	Rejected		Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

Say Strong

1

- Canal Sept

1

Sr. No.	Description of required Items	QTY	M/s Technology L Karachi	inks	M/s Mega Tro	nic Traders	M/s Fabnos Tr LTD Karachi	raders PVT	M/s Fabnos International Karachi	Remarks
53.56	- cquired Atendo		Amount Rs.	Total Rs.	Amount Rs.	Total Rs.	Amount Rs.	Total Rs.		
45	FLOWABLE Composite (Pack of two)	10 pkts	3,500 Flowable Composite (Pack of two) Turkey	35,000	4,500 Flowable Composite (Pack of two) VIA/Mequara	45,000	1,850 Flowable Composite (Pack of two) Brazil	18,500	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
46	ETHYLE CHLORIDE	06 bottles	Not Quoted		7,500 Ethyle Chloride China 120ml	45,000	Not Quoted		Not Quoted	M/s Mega Tronic Traders Hyderabad has single firm quoted & Qualified for purchase order being best Evaluated
47	Self-Cure Powder	10 kg	10,800 Self-Cure Powder UK	108,000	11,250 Self-Cure Powder 1000 gm USA	112,500	5,780 Self-Cure Powder UK	57,800	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
48	Self-Cure Liquid	10 Liters	3,100 Self-Cure Liquid Local	31,000	3,000 Self-Cure Liquid 500ml USA	30,000	4,680 Self-Cure Liquid UK	46,800	Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
49	Heat-Cure Powder	10 kg	10,600 Heat-Cure Powder UK	106,000	11,250 Heat-Cure Powder 1000gm USA	112,500	5,000 Heat-Cure Powder UK	50,000	Not Quoted	M/s Fabnos Traders Karachi is Qualified for purchase order being 1st lowest
50	Heat-cure Liquid	10 Liters	Rejected		3,000 Heat-cure Liquid 500ml USA	30,000	4,320 Heat-cure Liquid UK	43,200	Not Quoted	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
51	Cold Mold Seal	40 liters	300 Cold Mold Seal Local	12,000	1,200 Cold Mold Seal Local PAK 500ml	48,000	1,750 Cold Mold Seal UK	70,000	Not Quoted	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
Total A	mount with all taxes			221,500	1	,574,250		1,204,050	0.0	

Central Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro

Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Muhammad Aasim Soomro

Additional Director, Planning & Development, LUMHS, Jamshoro (Chairman)